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jksy uacj 'kCnksa esa 
fy[ksµ

vH;FkhZ ds vuqØekad ,oa igpku i=k dks izos'k i=k ls feyku 
i'pkr~ gh oh{kd ckWDl gLrk{kj   djsa%

uksV% vH;FkhZ vxys i`"B ij 
vafdr ijh{kk laca/h egRoiw.kZ 
funsZ'kksa ds i<+dj vfuok;Zr 
ikyu djsaA

;fn vH;FkhZ vuqfpr lk/u dk mi;ksx djrs gq, ik;k tkrk gS rks oh{kd fuEukafdr 
xksys dks dkys@uhys isu ls Hkjs ,oa rRdky dsUnzkè;{k dks lwfpr djsa%

(dsUnzkè;{k ds gLrk{kj ,oa lhy ijh{kk Hkou esa)

vH;FkhZ }kjk lko/kuhiwoZd Hkjk tkosaA

ijh{kk dk ekè;e % fgUnh

fuEu Hkkx oh{kd }kjk gh Hkjk tkosaA

vaxzsth
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IMPORTANT NOTES
egRoiw.kZ funsZ'k

(A) ç'uksÙkj iqfLrdk esa ç'u gy djus ls iwoZ mlds layXu vks- ,e- vkj- i=kd dks Hkyh çdkj ls Hkj ysaA

	 Please	fill	up	the	OMR	Sheet	of	this	Question-Answer	Booklet	properly	before	answering.

(B)	 fgUnh O;kdj.k@fgUnh fuca/ ds ç'u&i=k dks NksM+dj] vU; lHkh ç'u&i=kksa dk fgUnh vFkok vaxzsth esa mÙkj fy•k tk ldrk gSA 

	 Except	Hindi	Grammar/Hindi	Essay	question	paper,	all	other	question	papers	can	be	written	either	in	Hindi	or	
English	language.	

(C) vH;fFkZ;ksa dks vius mÙkj fu/kZfjr 'kCnksa dh lhek ls vf/d ugha fy•uk pkfg,A bldk mYya?ku djus ij vad dkVs tk,¡xsA vH;FkhZ mÙkj nh xbZ 
ykbZuksa ds vanj gh fy•saA •kyh LFkku ij Xi;k u fy•saA

	 The	candidates	should	not	write	the	answer	beyond	the	prescribed	limit	of	word;	failing	which,	marks	will	be	
deducted.	Candidates	should	write	the	answers	within	the	given	lines.	Please	do	not	write	in	the	blank	space.

(D) çR;sd ç'u dk mÙkj ç'uksÙkj iqfLrdk esa fu/kZfjr LFkku ij gh fy•saA ç'uksÙkj iqfLrdk (jiQ dk;Z ds i`"B lfgr) ds vanj fdlh Hkkx ij vuqØekad] 
viuk uke] vU; dksbZ uke] irk ;k vU; dksbZ igpku fpÉ vafdr u djsaA mÙkj iqfLrdk ds lkFk vU; dksbZ lkexzh layXu djuk oftZr gSA bu funZs'kksa 
dk mYya?ku djus ij vkosnd dks dksbZ uksfVl fn;s fcuk mldh mEehnokjh fujLr dh tk,xhA 

	 Please	write	answers	only	in	the	prescribed	space	of		booklet.	Do	not	make	any	mark	of	identity	inside	the	booklet	
(including	rough	paper	page)	like	roll	number,	name,	any	other	name,	address	or	such	other	mark:	Do	not	enclose	
anything	with	the	answer	booklet.	The	candidature	of	candidates	violating	these	instructions	would	be	cancelled	
without	even	giving	them	any	other	notices.

(E) vH;fFkZ;ksa dks funZsf'kr fd;k tkrk gS fd ç'uksÙkj iqfLrdk esa çR;sd i`"B esa cukbZ xbZ ckMZj ykbZu ls ckgj çR;qÙkj ugha fy•saA ckMZj ykbZu ds ckgj 
fy•s x;s mÙkj dks ijh{kd }kjk tk¡pk ugha tk,xkA

	 Candidates	are	directed	that	they	should	not	write	(answer)	outside	the	border	line	in	every	page.	Answer	written	
outside	the	border	line	will	not	be	checked	by	the	Examiner.	

(F) ;fn fdlh ç'u esa fdlh çdkj dh dksbZ eqæ.k ;k rF;kRed çdkj dh =kqfV gks] rks ç'u ds fgUnh rFkk vaxzsth :ikUrjksa esa ls fgUnh :ikUrj ekU; gksxkA

	 If	there	is	any	sort	of	ambiguity/mistake	either	of	printing	or	of		factual	nature	then	out	of		Hindi	and	English	
version	of	the	question,	the	Hindi	version	will	be	treated	as	standard.

(G) vH;FkhZ dks ç'uksÙkj iqfLrdk lhycan çnku dh xbZ gSA

	 The	Question-Answer	Booklet	is	provided	in	a	sealed	to	the	candidate.

(H) vH;FkhZ ç'uksÙkj iqfLrdk ds Åij layXu bl vks- ,e- vkj- i=kd ij lHkh okafNr fooj.k uhys@dkys cky isu ls lko/kuhiwoZd HkjsaA è;ku j•sa fd 
;g vks- ,e- vkj- i=kd dgha ls dVs&iQVs vFkok fdlh Hkh çdkj ls {kfrxzLr ugha gksA

	 Candidate	should	fill	up	all	the	desired	details	on	this	attached	OMR	Sheet	of	Question-Answer	Booklet	with	
Blue/black	ball	point	pen.	Please	ensure	that	this	OMR	Sheet	is	not	torn	or	damaged.

(I) ;g vks- ,e- vkj- i=kd nks Hkkxksa esa gS] ftlesa dfri; lwpuk,¡ iwoZeqfær gSaA 'ks"k dh iwfrZ vH;FkhZ dks djuh gSaA

	 This	OMR	Sheet	consists	of	two	parts	 in	which	some	information	is	pre-printed;	remaining	details	have	to	be	
filled	by	the	candidates.	

(J) ;fn ç'uksÙkj iqfLrdk dgha ls dVh&iQVh ;k veqfær gS] rks rRdky oh{kd ds è;ku esa yk nsa rFkk mls cnyok ysa] vU;Fkk mldk nkf;Ro vH;FkhZ dk 
gksxkA

	 If	the	Question-Answer	Booklet	is	torn	or	not	printed	properly,	immediately	bring	it	to	notice	of	invigilator	and	
get	changed	the	Question-Answer	Booklet,	otherwise	the	candidate	will	be	liable	for	that.

 fo'ks"k uksV % vH;FkhZ }kjk ;fn vks- ,e- vkj- i=kd ij xyr lwpuk Hkjh tkrh gS ;k mls fdlh çdkj dh {kfr igq¡pkbZ tkrh gS rks vk;ksx }kjk 
laiw.kZ ijh{kk gsrq vH;fFkZrk fujLr dh tk,xh vkSj mlds fy, vH;FkhZ Lo;a mÙkjnk;h gksxkA

 Special Note:	 If	 there	 is	any	wrong	information	filled	by	the	candidate	then	his/her	candidature	for	 the	entire	
examination	shall	be	rejected	by	the	commission,	for	which	he/she	will	be	held	responsible.

SPECIAL INSTRUCTION
fo'ks"k funZs'k

(A) ç'u&i=k nks •.Mksa ^v* rFkk ^c* esa foHkkftr gSA çR;sd •aM esa rhu eq[; ç'u gSa ftlds varxZr Øe'k% vfr y?kqÙkjh;] y?kqÙkjh; ,oa nh?kZ mÙkjh; 
mi & ç'u iwNs x, gSaA nh?kZ mÙkjh; ç'u esa vkarfjd fodYi fn;s x, gSaA çR;sd ç'u ds le{k mlds iw.kkZad vafdr fd;s x, gSaA 

	 The	question	paper	is	divided	into	two	Sections	as	‘A’	and	‘B’.	There	are	three	main	questions	in	each	section	
which	are	very	short	type,	short	type	and	long	type	questions,	where	there	are	sub-questions	in	each	question.	
There	is	internal	choice	in	long	type	questions.	The	maximum	marks	are	printed	in	front	of	question.
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SECTION-A/[kaM  - v

ç'u % 1- bl ç'u esa 15 vfry?kqÙkjh; mi&ç'u gSaA çR;sd ç'u gsrq vkn'kZ 'kCn lhek 20 'kCn gksxhA 
lHkh ç'u vfuok;Z gSaA çR;sd ç'u 02 (nks) vadksa dk gSA   

Q : 1. This question contains 15 very short answer type sub questions. Answer each question 
ideally in 20 words. All questions are compulsory. Each question carries 02 (two) 
marks. (2 × 15 = 30)

ç'u % (1-1) 1909 ds ekWyZs&feaVks lq/kjksa dk mís'; D;k Fkk\

  What was the objective of Morley-Minto Reforms of 1909?

mÙkj % _______________________________________________________________________________

 _______________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (1-2) iapk;rksa dk dk;Zdky

  Tenure of Panchayats

mÙkj % _______________________________________________________________________________

 _______________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

  

ç'u % (1-3) jkT; iquxZBu vk;ksx

  State Reorganisation Commission

mÙkj % _______________________________________________________________________________

 _______________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ç'u % (1-4) cpiu cpkvks vkanksyu

  Bachpan Bachao Andolan

mÙkj % _______________________________________________________________________________

 _______________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

SECTION-A/[kaM  - v
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SECTION-A/[kaM  - v

ç'u % (1-5) uhfr vk;ksx ds D;k dk;Z gSa\

  What are the functions of NITI Aayog?

mÙkj % _______________________________________________________________________________

 _______________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (1-6) ewy vf/dkjksa dh dqy fdruh Jsf.k;ka gSa vkSj os dkSu&dkSu lh gSa\

  How many categories of Fundamental Rights are there and what are they?   

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

    
ç'u % (1-7) oYyHk Hkou

  Vallabh Bhawan

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

ç'u % (1-8) jkT; miHkksDrk fookn fuokj.k vk;ksx

  State Consumer Disputes Redressal Commission 

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

ç'u % 1- bl ç'u esa 15 vfry?kqÙkjh; mi&ç'u gSaA çR;sd ç'u gsrq vkn'kZ 'kCn lhek 20 'kCn gksxhA lHkh 
ç'u vfuok;Z gSaA çR;sd ç'u 02 (nks) vadksa dk gSA   

Q : 1. This question contains 15 very short answer type sub questions. Answer each question ideally 
in 20 words. All questions are compulsory. Each question carries 02 (two) marks.

                      (2 × 15 = 30)

SECTION-A/[kaM  - v
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SECTION-A/[kaM  - v

ç'u % (1-9) Hkkjr ds fcLekdZ

  Bismarck of India

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________    

ç'u % (1-10) vkWijs'ku xzhu gaV

  Operation Green Hunt     

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________      

ç'u % (1-11) dk;Zokgd eq[; U;k;k/h'k dh fu;qfDr dSls gksrh gS\

  How is the appointment of Acting Chief Justice done?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________ 

ç'u % (1-12) vuqPNsn&164 ds vuqlkj eq[;ea=kh vkSj eaf=k;ksa dh fu;qfDr laca/h çkoèkku D;k gSa\

  What are the provisions regarding appointment of Chief Minister and Ministers as per 
Article-164?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

ç'u % 1- bl ç'u esa 15 vfry?kqÙkjh; mi&ç'u gSaA çR;sd ç'u gsrq vkn'kZ 'kCn lhek 20 'kCn gksxhA lHkh 
ç'u vfuok;Z gSaA çR;sd ç'u 02 (nks) vadksa dk gSA   

Q : 1. This question contains 15 very short answer type sub questions. Answer each question ideally 
in 20 words. All questions are compulsory. Each question carries 02 (two) marks.

                      (2 × 15 = 30)

SECTION-A/[kaM  - v
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SECTION-A/[kaM  - v

ç'u % (1-13) yksduk;d t;çdk'k ukjk;.k

  Loknayak Jayprakash Narayan

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________ 

ç'u % (1-14) Hkkjr ds fu;a=kd ,oa egkys•k ijh{kd dh fu;qfDr dkSu djrk gS\

  Who appoints the Comptroller and Auditor General of India?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________  

ç'u % (1-15) Hkkjr esa tufgr ;kfpdk ds ç.ksrk dkSu ekus tkrs gSa\

  Who is considered the originator of Public Interest Litigation in India?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________      

ç'u % 1- bl ç'u esa 15 vfry?kqÙkjh; mi&ç'u gSaA çR;sd ç'u gsrq vkn'kZ 'kCn lhek 20 'kCn gksxhA lHkh 
ç'u vfuok;Z gSaA çR;sd ç'u 02 (nks) vadksa dk gSA   

Q : 1. This question contains 15 very short answer type sub questions. Answer each question ideally 
in 20 words. All questions are compulsory. Each question carries 02 (two) marks.

                      (2 × 15 = 30)

SECTION-A/[kaM  - v
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SECTION-A/[kaM  - v

ç'u % 2- bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 
lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA 

Q : 2.  This question contains 10 short answer type sub-questions. Answer each question ideally in 
60 words. All questions are compulsory. Each question carries 07 (seven) marks. (7 × 10 = 70)

ç'u % (2-1) v'kksd esgrk lfefr (1977) dh çeq• fliQkfj'ksa D;k Fkha\

  What were the main recommendations of the Ashok Mehta Committee (1977)?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (2-2) Hkkjrh; çfrLi/kZ vk;ksx (CCI) ds çeq• dk;Z ,oa 'kfDr;ka D;k gSa\

  What are the main functions and powers of the Competition Commission of India (CCI)?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________ 

SECTION-A/[kaM  - v
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SECTION-A/[kaM  - v

ç'u % (2-3) vfgY;kckbZ gksYdj }kjk fd, x, lkekftd lq/kjkRed dk;ks± dk mYys• dhft,A

  Mention the social reformative works done by Ahilyabai Holkar.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (2-4) flfoy lkslk;Vh dh ç'kklu esa D;k Hkwfedk gksrh gS\ Li"V dhft,A 

  What is the role of civil society in administration? Explain. 

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

ç'u % 2- bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA 

Q : 2.  This question contains 10 short answer type sub-questions. Answer each question ideally in 
60 words. All questions are compulsory. Each question carries 07 (seven) marks. (7 × 10 = 70)

SECTION-A/[kaM  - v
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SECTION-A/[kaM  - v

ç'u % (2-5) U;kf;d lfØ;rk dh vo/kj.kk ds fodkl ds çeq• dkj.kksa dk mYys• dhft,A   

  Mention the main reasons for the development of the concept of judicial activism.  

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (2-6) eè;çns'k ds foHkktu ds D;k dkj.k Fks rFkk blds D;k çeq• çHkko iM+s\ Li"V dhft,A  

  What were the reasons for the division of Madhya Pradesh and what were its main impacts? 
Explain.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________
 

ç'u % 2- bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 
lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA 

Q : 2.  This question contains 10 short answer type sub-questions. Answer each question ideally in 
60 words. All questions are compulsory. Each question carries 07 (seven) marks. (7 × 10 = 70)

SECTION-A/[kaM  - v
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SECTION-A/[kaM  - v

ç'u % (2-7) Lo&lgk;rk lewg fdu&fdu çeq• dk;ks± ds ekè;e ls lekt esa ;ksxnku nsrs gSa\ 

  Through which major works do self-help groups contribute to the society?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (2-8) lafo/ku esa la;qDr yksd lsok vk;ksx dh LFkkiuk fdl çdkj dh xbZ gS\ Li"V dhft,A

  How has the Joint Public Service Commission been established in the Constitution? 
Explain.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

ç'u % 2- bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 
lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA 

Q : 2.  This question contains 10 short answer type sub-questions. Answer each question ideally in 
60 words. All questions are compulsory. Each question carries 07 (seven) marks. (7 × 10 = 70)

SECTION-A/[kaM  - v
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SECTION-A/[kaM  - v
ç'u % 2- bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA 

Q : 2.  This question contains 10 short answer type sub-questions. Answer each question ideally in 
60 words. All questions are compulsory. Each question carries 07 (seven) marks. (7 × 10 = 70)

SECTION-A/[kaM  - v

ç'u % (2-9) Hkkjrh; lafo/ku ds ewy <k¡ps dh ladYiuk D;k gS\ la{ksi esa Li"V dhft,A

  What is the concept of the basic structure of the Indian Constitution? Explain briefly.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (2-10) f}&nyh; O;oLFkk ds D;k çeq• ykHk gSa\ lkFk gh blds nks laHkkfor uqdlkuksa dk mYys• 
djsaA      

  What are the main advantages of the two-party system? Also mention two potential 
disadvantages.  

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________
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SECTION-A/[kaM  - v
ç'u % 3- bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn 

gSA lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA   

Q : 3. This question contains 05 long answer type sub-questions. Answer each question ideally 
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.  
 (10 × 5 = 50)

ç'u % (3-1) ljdkj }kjk tutkfr;ksa ds lexz mRFkku gsrq lapkfyr çeq• ;kstukvksa dk laf{kIr o.kZu 
dhft,A

  Briefly describe the major schemes run by the government for the overall upliftment of 
the tribes.

vFkok@OR

 jk"Vªh; vuqlwfpr tkfr vk;ksx ds çeq• dk;ks±] 'kfDr;ksa ,oa fjiksVZ ç.kkyh dk o.kZu dhft,A

 Describe the main functions, powers and reporting system of the National Scheduled Caste 
Commission.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_ 
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SECTION-A/[kaM  - v
ç'u % 3- bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA   

Q : 3. This question contains 05 long answer type sub-questions. Answer each question ideally in 
200 words. All questions are compulsory. Each question carries 10 (ten) marks. (10 × 5 = 50)

ç'u% (3.1) continued (tkjh)

              ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________
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SECTION-A/[kaM  - v

ç'u % (3-2) MkW- Hkhejko vacsMdj ds lkekftd fopkjksa dk Hkkjrh; lekt ij D;k çHkko iM+k\ Li"V 
dhft,A

  What impact did the social ideas of Dr. Bhimrao Ambedkar have on Indian society? 
Explain.

vFkok@OR

 Hkkjrh; jktuhfr esa tkfr dh Hkwfedk dk ijh{k.k dhft,A     

 Examine the role of caste in Indian politics.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % 3- bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA 
lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA   

Q : 3. This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks. (10 × 5 = 50)
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SECTION-A/[kaM  - v
ç'u % 3- bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA   

Q : 3. This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks. (10 × 5 = 50)

 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________ 

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

ç'u% (3.2) continued (tkjh)



14

SECTION-A/[kaM  - v

ç'u % 3- bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA 
lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA   

Q : 3. This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks. (10 × 5 = 50)

ç'u % (3-3) Hkkjrh; lafo/ku esa uhfr funs'kd fl¼karksa dh fo'ks"krkvksa ,oa egRo dk o.kZu dhft,A 

  Describe the characteristics and importance of the Directive Principles of Policy in the 
Indian Constitution.

vFkok@OR

 eè;çns'k dh jktuhfr esa efgykvksa dh Hkwfedk dk ,sfrgkfld ,oa ledkyhu ifjçs{; esa ewY;kadu 

dhft,A

  Evaluate the role of women in the politics of Madhya Pradesh in historical and 
contemporary perspective.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

_________________________________________________________________________________



15

SECTION-A/[kaM  - v
ç'u % 3- bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA   

Q : 3. This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks. (10 × 5 = 50)

ç'u% (3.3) continued (tkjh)

 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________   

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________
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SECTION-A/[kaM  - v
ç'u % 3- bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA   

Q : 3. This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks. (10 × 5 = 50)

ç'u % (3-4) fo/kulHkk esa foi{k dh Hkwfedk vkSj mlds egRo dk fo'ys"k.k dhft,A 

 Analyze the role of the opposition in the Legislative Assembly and its importance.

vFkok@OR

 orZeku le; esa ehfM;k ds lkekftd çHkkoksa dk fo'ys"k.k dhft,A

 Analyze the social effects of media in the present times.  

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________
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SECTION-A/[kaM  - v
ç'u % 3- bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA   

Q : 3. This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks. (10 × 5 = 50)

ç'u% (3.4) continued (tkjh)

 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________
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SECTION-A/[kaM  - v
ç'u % 3- bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA   

Q : 3. This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks. (10 × 5 = 50)

ç'u % (3-5) Hkkjrh; lafo/ku ds varxZr dsaæ ,oa jkT; ljdkjksa ds eè; foÙkh; lacaèkksa dk o.kZu dhft,A   

  Describe the financial relations between the Central and State Governments under the Indian 
Constitution.

vFkok@OR

 eè;çns'k esa uDlyh leL;k ds lek/ku gsrq viuk, x, çeq• mik;ksa dk fo'ys"k.k dhft,A

 Analyze the major measures adopted to solve the Naxalite problem in Madhya Pradesh.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________
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SECTION-A/[kaM  - v
ç'u % 3- bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA   

Q : 3. This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks. (10 × 5 = 50)

 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

ç'u% (3.5) continued (tkjh)
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